
Plane Geometry 
Pair of  straight lines

show that the equation

2(n + 2)2 + 3(n +2)(y -2) - 2/y -2)2 0

represents two perpendicular lines .

where do they intersect ?

sol . The Given ef
-

2(n +2) + 3(a + c)(y - 3) - a(y - 2)85



es . ① is head in x +2

--

a+2 =

-(9(y -2)" - 4(2)(- 2)/y-2)
2X2

n+ c =Are25
ha + 8 = - 31y -2) 15/y - 2)



4x + 8
= (y -z)( - 3 = 5)

4x + 0 = (y - 2)2
and 42 + 3 = (y-2)78)

- 4x + 8 - 24 + 4 = 0

and 4x +8 + 8y - 16 = 0

-S
4x - 2y + 12 = 0
4x + 8y - 8 = 0



- 2x - y + 6 = 0 - ⑪

and x + 24-2 = 0 -

m , = slope of ⑪
= =

2.

M2= slope ofN =I
m

, mc = 2x = = - 1



M ,Me = 11

Hence Lines & are I

... es . ① represents two I lines .

Su 87*
2x - y + 6 = 0/

-- = 0



- 5y + 10 = 0

- 5y = - 10

y = 2

2x - 2 + 6= 0

Pointof intersection
2x + 4 = 0

(- 2 , 2)
2x = - 4

R= - 2


